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1.37 pens and 53 pencils together cost Rs. 320,
while 53 pens and 37 pencils together cost Rs.

400. Find the cost of a pen and that of a pencil.

° Watch Video Solution

2. AandB each have certain number of
oranges. A says to B, if you give me 10 of your
oranges, | will have twice the number of
oranges left with you. B replies, if you give me

10 of your oranges, | will have the same number


https://dl.doubtnut.com/l/_o6HEQyDaxQzQ
https://dl.doubtnut.com/l/_MBVwmJZ045JM

of oranges as left with you. Find the number of

oranges with A and B separately.

o Watch Video Solution

3. Prove that there is a value of ¢( # 0) for
which the system 6z +3y=c—3
12z + cy = ¢ has infinitely many solutions.

Find this value.

° Watch Video Solution



https://dl.doubtnut.com/l/_MBVwmJZ045JM
https://dl.doubtnut.com/l/_xvoCCtzzrXKH

4. Find the values of k for which the system
2z + ky = 13z — 5y = 7 will have (i) a unique
solution, and (ii) no solution. Is there is a value
of k for which the system has infinitely many

solutions?

° Watch Video Solution

5. For what value of a;, the system of equations
ar + 3y = a — 3 122 + ay = a will have no

solution?
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6. Find the value of k£ for which the system
kx+2y=5 3x+y=1 has (i) a unique

solution, and (ii) no solution.

o Watch Video Solution

7. Determine the values of a and b for which the
following system of linear equations has
infinite solutions: 2z — (a — 4)y = 2b + 1 and

dr — (a — 1)y =5b—1

| = |


https://dl.doubtnut.com/l/_VAx7vY09BV9I
https://dl.doubtnut.com/l/_eZLKSWFZ8bQw
https://dl.doubtnut.com/l/_8kjw59PlzRb9

| ®F Watch Video Solution

8. Determine the values of mandn so that the
following system of linear equations have
infinite number of solutions:
2m—-1)x+3y—5=0

3x+(n—1y—2=0

° Watch Video Solution

9. Find the values(s) of k for which the system

of equations kx — y = 2 6z — 2y = 3 has (i) a


https://dl.doubtnut.com/l/_8kjw59PlzRb9
https://dl.doubtnut.com/l/_PdMe9cAoSpFn
https://dl.doubtnut.com/l/_NehBxpBUpLuJ

unique solution (ii) no solution. Is there a value
of k for which the system has infinitely many

solutions?

° Watch Video Solution

10. For what value of k£ will the equations
x+2y+7=0,2x + ky+ 14 =0 represent
coincident lines?

(A). 2

(B). 6

(C). 4


https://dl.doubtnut.com/l/_NehBxpBUpLuJ
https://dl.doubtnut.com/l/_9ysGwnbywh7u

o Watch Video Solution

1. In each of the following systems of
equations determine whether the system has a
unique solution, no solution or infinitely many
solutions. In case there is a unique solution,

find it. 2x + 3y = 762 + 5y = 11

o Watch Video Solution

12. Solve

a(z +y) + bz —y) = a® — ab + b,


https://dl.doubtnut.com/l/_9ysGwnbywh7u
https://dl.doubtnut.com/l/_lQCKxaEVmO67
https://dl.doubtnut.com/l/_2hC1NaB4MFDs

a(x +y) — bz —y) = a® + ab+ b?

° Watch Video Solution

13.So|ve:%—|—£—a—1—b—+£:2

b b?

° Watch Video Solution

4 3
140_ — d_ 4 —
w—|—5y 7an w+ Yy=>5

° Watch Video Solution
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15. Solve the following system of equations in

xandy ar +by =1
2
(a +b) 2ab
bac—|—ay:a2—+b2—1or ,br + ay = D

o Watch Video Solution

16.Solve:x +y=a + bax — by = a® — V?

o Watch Video Solution



https://dl.doubtnut.com/l/_fcZEtV7Awbup
https://dl.doubtnut.com/l/_1uDTnUtTwyZv
https://dl.doubtnut.com/l/_htwG8zNoqa2H

o Watch Video Solution

y+ 7

18. e ———+2=10

11
x + 11
=10
7

2y +

and

° Watch Video Solution

19. T — Y+ z=4,

2r +y—32=0

o Watch Video Solution



https://dl.doubtnut.com/l/_htwG8zNoqa2H
https://dl.doubtnut.com/l/_gQHskJX4O9Wc
https://dl.doubtnut.com/l/_HAcNkFOUTy0k
https://dl.doubtnut.com/l/_L4IQCxcqHYpS
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° Watch Video Solution

2. Solve: xz+4+2y+2=7 x4+ 3z=11,

2r — 3y =1

° Watch Video Solution

22.Solve forxand y

° _ T 3
t+y -y ’



https://dl.doubtnut.com/l/_L4IQCxcqHYpS
https://dl.doubtnut.com/l/_AjqtPQxzghgh
https://dl.doubtnut.com/l/_92tzYHnOhLRr

1 1

2z +y) 3z —y)

° Watch Video Solution

23. Determine graphically the vertices of a
trapezium, the equations of whose sides are
x=0,y=0,y=4and2xz +y=6 . Also,

determine its area.

o Watch Video Solution



https://dl.doubtnut.com/l/_92tzYHnOhLRr
https://dl.doubtnut.com/l/_Yqf9ttD0IZ5v

24. Determine, graphically whether the system
of equations x* —2y=24x —-2y=95 is

consistent or in-consistent.

° Watch Video Solution

25. Solve the following system of equations by

using the method of elimination by equating

the coefficients: il + J +1 =15

10 5

X Y
— + = =15
8+6

° Watch Video Solution



https://dl.doubtnut.com/l/_8X4YW3Oiqq2q
https://dl.doubtnut.com/l/_HfYEGALjm9tV

26. Solve the following system of equations:

S S
2z y

1 1

— + — = 9, wherex # 0,y # 0.
x 2y

° Watch Video Solution

6 8
27. Solve: 4x + g =15 6x — g — 14 and

hence find p ify = pzr — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_9AT3iJk91mrm
https://dl.doubtnut.com/l/_N2IlONr10izy

28.Solve: 3(2u + v) = Tuwv, 3(u + 3v) = 1luv

° Watch Video Solution

1 12 1
29. Solve: + = —
2(2z + 3y) 7(3z — 2y) 2

IR S
2¢ +3y 3z —2y

2x + 3y # 0and3x — 2y # 0.

2 where

° Watch Video Solution



https://dl.doubtnut.com/l/_0KgXJtMyt7fk
https://dl.doubtnut.com/l/_m1XuKWAySCYO

30. Solve: 217x + 131y = 913

131z + 217y = 827

° Watch Video Solution

31. The area of the triangle formed by the lines
2¢ +3y =12,z —y—1=0 and z =0 (as
shown in Figure), is 7sq. units (b) 7.5 sq. units

(c) 6.5 sq. units (d) 6 sq. units

° Watch Video Solution



https://dl.doubtnut.com/l/_4PzBqZqIohwh
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32. The students of a class are made to stand in
rows. If 3 students are extra in a row, there
would be 1 row less. If 3 students are less in a
row there would be 2 rows more. Find the

number of students in the class.

° Watch Video Solution

33. A wizard having powers of mystic in
candations and magical medicines seeing a
cock, fight going on, spoke privately to both the

owners of cocks. To one he said:your bird wins,


https://dl.doubtnut.com/l/_yFtWAnGaR20B
https://dl.doubtnut.com/l/_Ui2jlwR7M4mX

than you give me your stake-money, but if you
do not win, | shall given you two third of that'.
Going to the other, he promised in the same
way to three fourths. From both of them his
gain would be only 12 gold coins. Find the stake

of money each of the cock-owners have.

° Watch Video Solution

34. A railway half ticket costs half the full fare
and the reservation charge is the same on the
half ticket as on full ticket. One reserved first

class ticket from Mumbai to Ahmedabad costs


https://dl.doubtnut.com/l/_Ui2jlwR7M4mX
https://dl.doubtnut.com/l/_WmEQ1L0wO0qd

rs216 and one full and one half reserved first
class tickets cost rs 327 What is the basic first
class full fare and what is the reservation

charge?

° Watch Video Solution

35. There are two examination rooms A and B. If
10 candidates are sent A and B, the number of
students in each room is same. If 20 candidates
are sent from B to A, the number of students in
A is double the number of students in B. Find

the number of students in each room.


https://dl.doubtnut.com/l/_WmEQ1L0wO0qd
https://dl.doubtnut.com/l/_vxfggNjAn6TX

o Watch Video Solution

36. In a rectangle, if the length is creased by 3
metres and breadth is decreased by 4 meters,
the rea of the rectangle is reduced by 67
square meters. If length is reduced by 1 metre
and breadth is increased by 4 metres, the area
is increased by 89 sqg. metres. Find the

dimensions of the rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_vxfggNjAn6TX
https://dl.doubtnut.com/l/_buUPRosu44bG
https://dl.doubtnut.com/l/_s3mPFVhrqoSv

37.0n selling a tea-set 5% loss and a lemon-set
at 15% gain, a crockery seller gains Rs. 7. If he
sells the tea-set at 5% gain and the lemon-set
at 10% gain, he gains Rs. 13. Find the actual

price of the tea-set and the lemon-set.

° Watch Video Solution

38. Draw the graphs of
2t +y=6and ¢ —y+ 2 =0. Shade the
region boun-ded by these lines and x=axis. Find

the area of the shaded region.

.Y |


https://dl.doubtnut.com/l/_s3mPFVhrqoSv
https://dl.doubtnut.com/l/_AhL0H07FuDvF

| W vvatch Video Solution J

39. Solve the following system of Ilinear
equations graphically. 2 —y—4 =0,

r+y+1=20

O Watch Video Solution

40. Solve the following system of equations
graphically =z 4+3y=6 2z —3y=12 and

hence find the value of a, if4x 4 3y = a

° Watch Video Solution



https://dl.doubtnut.com/l/_AhL0H07FuDvF
https://dl.doubtnut.com/l/_jCEi8DWV2Mhy
https://dl.doubtnut.com/l/_cuGf6jLMhVDF

41. Show graphically that the system of
equations 3z —y=2 9z —3y=6 has

infinitely many solutions.

° Watch Video Solution

42. Show graphically that the system of
equations

2x + 4y =10 and 3x + 6y = 12 has no solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_cuGf6jLMhVDF
https://dl.doubtnut.com/l/_F8QhteAfT1fw
https://dl.doubtnut.com/l/_EUMwmaJTdX9d

43. Solve graphically the system of equations:

x+y=33r —2y=4

° Watch Video Solution

44, Ten students of class X took part in
Mathematics quiz. If the number of girls is 4
more than the number of boys. Represent this

situation algebraically and graphically.

° Watch Video Solution



https://dl.doubtnut.com/l/_JBe0oDcsHiWr
https://dl.doubtnut.com/l/_nsLmZ4QduCqO
https://dl.doubtnut.com/l/_f9VLPZR07quZ

45. Draw the graphs of the following equations:
2t —y—2=0 , 4dox+3y—24=0 and
y + 4 = 0 Obtain the vertices of the triangle

so obtained. Also, determine its area.

° Watch Video Solution

46. Solve the following system of Ilinear
equations graphically: z —y =1

2r +y =38

° Watch Video Solution



https://dl.doubtnut.com/l/_f9VLPZR07quZ
https://dl.doubtnut.com/l/_hraOdwaO0goQ
https://dl.doubtnut.com/l/_W8WEVTmE7ZWn

47. After covering a distance of 30km with a
uniform speed there is some defect in a train
engine and therefore, its speed is reduced to
4/5 of its original speed. Consequently, the
train reaches its destination late by 45 minutes.
Had it happened after covering 18 kilometres
more, the train would have reached 9 minutes
earlier. Find the speed of the train and the

distance of journey.

° Watch Video Solution



https://dl.doubtnut.com/l/_W8WEVTmE7ZWn

48. A man travels 600 km partly by train and
partly by car. If he covers 400 km by train and
the rest by car, it takes him 6 hours and 30
minutes. But, if he travels 200 km by train and
the rest by car, he takes half an hour longer.

Find the speed of the train and that of the car.

o Watch Video Solution

49. A boat covers 32km upstream and 36 km
downstream in 7 hours. Also, it covers 40 km

upstream and 48km downstream in 9 hours.


https://dl.doubtnut.com/l/_RqIQePRWdi19
https://dl.doubtnut.com/l/_0MNWlsfSXlgF

Find the speed of the boat in still water and

that of the stream.

o Watch Video Solution

50. X takes 3 hours more than Y to walk 30km.
But, if X double his pace, he is ahead of Y by

Ehours . Find their speed of walking.

° Watch Video Solution



https://dl.doubtnut.com/l/_0MNWlsfSXlgF
https://dl.doubtnut.com/l/_c1tX70VL3iwF

51. The total expenditure per month of a
household consists of a fixed rent of the house
and mess charges depending upon the number
of people sharing the house. The total monthly
expenditure is Rs. 3900 for 2 people and Rs.
7500 for 5 people. Find the rent of the house

and the mess charges per head per month.

0 Watch Video Solution

52. A man starts his job with a certain monthly

salary and earns a fixed increment every year. If


https://dl.doubtnut.com/l/_CBBs7thurydu
https://dl.doubtnut.com/l/_YJj2cBIxafXN

his salary was Rs. 1500 after 4 year of service
and Rs. 1800 after 10 years of service, what was
his starting salary and what is the annual

increment?

° Watch Video Solution

53. places A and B are 80 km apart from each
other on a highway. A car starts from A and
other from B at the same time. If they move in
the same direction, they meet in 8 hours and if

they move in opposite directions, they meet in


https://dl.doubtnut.com/l/_YJj2cBIxafXN
https://dl.doubtnut.com/l/_hiXiydPy8BaP

1 hour and 20 minutes. Find the speed of the

cars.

° Watch Video Solution

54. Abdul traveled 300km by train and 200km
by taxi, it took him 5 hours 30minutes But if he
travel 260 km by train and 240 km by bus he
takes 6 minutes longer Find the speed of the

train and of the taxi

° Watch Video Solution



https://dl.doubtnut.com/l/_hiXiydPy8BaP
https://dl.doubtnut.com/l/_9inqNqxN4CYy
https://dl.doubtnut.com/l/_ezdXI7a9G7se

55. A person invested some amount at the rate
of 12% simple interest and a certain amount at
the rate of 10% simple interest. He received
yearly interest of Rs 130. But if he had
interchanged the amounts invested, he would
have received Rs 4 more as interest. How much
did he invest at 12% simple interest? (a) Rs 400

(b) Rs 500 (c) Rs 700 (d) Rs 800

° Watch Video Solution



https://dl.doubtnut.com/l/_ezdXI7a9G7se

56. Students of a class are made to stand in
rows. If one student is extra in a raw, there
would be 2 rows less. If one student is less in a
row there would be 3 rows more. Find the

number of students in the class.

° View Text Solution

57. If the numerator of a fraction is multiplied
by 2 and the denominator is reduced by 5 the

fraction becomes 6/5. And, if the denominator


https://dl.doubtnut.com/l/_3ncR8TXMUrUB
https://dl.doubtnut.com/l/_41QDQ8TEb17d

is doubled and the numerator is increased by 8,

the fraction becomes 2/5. Find the fraction.

° Watch Video Solution

58. The denominator of a fraction is 4 more
than twice the numerator. When both the
humerator and denominator are decreased by
6, then the denominator becomes 12 times the

numerator. Determine the fraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_41QDQ8TEb17d
https://dl.doubtnut.com/l/_C0HmbufjdOOf
https://dl.doubtnut.com/l/_VxMmhT6uHQDQ

59.1 am three times as old as my son. Five years
later, | shall be two and a half times as old as

my son. How old am | and how old is my son?

° Watch Video Solution

60. If twice the son’s age in years is added to
the father’s age, the sum is 70. But if twice the
other’s age is added to the son’s age, the sum is

95. Find the ages of father and son.

° Watch Video Solution



https://dl.doubtnut.com/l/_VxMmhT6uHQDQ
https://dl.doubtnut.com/l/_Mqb8Lh9uw8hq
https://dl.doubtnut.com/l/_HiFchKaLsQ0I

61. Ten years ago, a father was twelve times as
old as his son and ten years hence, he will be
twice as old as his son will be then. Find their

present ages.

° Watch Video Solution

62. A and B are friends and their ages differ by
2 years. As father D is twice as old as A and B is
twice as old as his sister C. The age of D and C

differ by 40 years. Find the ages of A and B.

I ° Wiak~h \NiAaAn CaAliikian
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63. Two years ago, a father was five times as old
as his son. Two years later, his age will be 8
more than three times the age of the son. Find

the present ages of father and son.

° Watch Video Solution

64. Father’s age is three times the sum of ages

of his two children. After 5 years his age will be


https://dl.doubtnut.com/l/_iPygu8JXIRah
https://dl.doubtnut.com/l/_vrXMaknPsaWz
https://dl.doubtnut.com/l/_eRJp7CKCbF91

twice the sum of ages of two children. Find the

age of father.

° Watch Video Solution

65. A man travels 370 km partly by train and
partly by car. If he covers 250 km by train and
the rest by car, it takes him 30 km by train and
the rest by car, he takes 18 minutes longer. Find

the speed of the train and that of the car.

° Watch Video Solution



https://dl.doubtnut.com/l/_eRJp7CKCbF91
https://dl.doubtnut.com/l/_5ehyXSahO9rg
https://dl.doubtnut.com/l/_Yb5yCKlVG2u9

66. Point A and B are 90 km apart from each
other on a highway. A car starts from A and
another from B at the same time. If they go in
the same direction they meet and if they go in
opposite directions they meet in 9/7 hours.

Find their speeds.

° Watch Video Solution

67. A fraction becomes 4/5, if 1is added to both
numerator and denominator. If, however, 5 is

subtracted from both numerator and


https://dl.doubtnut.com/l/_Yb5yCKlVG2u9
https://dl.doubtnut.com/l/_7mh9E7yL6jKc

denominator, the fraction becomes 2. What is

the fraction.

° Watch Video Solution

68. A fraction is such that if the numerator is
multiplied by 3 and the denominator is reduced
by 8/11, but if the numerator is increased by 8
and the denominator is doubled, we get 2/5.

Find the fraction.

° Watch Video Solution



https://dl.doubtnut.com/l/_7mh9E7yL6jKc
https://dl.doubtnut.com/l/_e0xunm2DbLkM
https://dl.doubtnut.com/l/_0MiRADIwZpyT

69. The sum of two numbers is 1000 and the
difference between their squares is 256000.

Find the numbers.

° Watch Video Solution

70. A two-digit number is 3 more than 4 times
the sum of its digits. If 18 is added to the
number, the digits are reversed. Find the

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_0MiRADIwZpyT
https://dl.doubtnut.com/l/_bXP8YMt3qB3s
https://dl.doubtnut.com/l/_XMy2Zu4iY7uE

71. A two-digit number is such that the product
of its digits is 20. If 9 is added to the number
the digits interchange their places. Find the

number.

° Watch Video Solution

72. Seven times a two-digit number is equal to
four times the number obtained by reversing
the digits. If the difference between the digits

is 3. Find the number.

I ° Wiak~h \NiAaAan CAliikian
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73. The sum of a two digit number and the
number formed by interchanging its digits is 1
is subtracted from the first number, the new
number is 4 more than 5 times the sum of the

digits in the first number. Find the first number.

° Watch Video Solution

74. The sum of a two digit number and the

number formed by interchanging the digit is 12


https://dl.doubtnut.com/l/_yuGveYeNvD2E
https://dl.doubtnut.com/l/_MVp2dLpJl2Tl
https://dl.doubtnut.com/l/_o4jEe22SgUZe

is added to the number, the new number
becomes 5 times the sum of the digits. Find the

number.

° Watch Video Solution

75. A two digit number is obtained by either
multiplying sum of digits by 8 and adding 1 or
by multiplying the difference of the digits by 13

and adding 2. Find the number.

° Watch Video Solution



https://dl.doubtnut.com/l/_o4jEe22SgUZe
https://dl.doubtnut.com/l/_LONkbPf2WEI2
https://dl.doubtnut.com/l/_TjN3V9OQm03A

76. If three times the larger of the two numbers
is divided by the smaller one, we get 4 as
quotient and 3 as the remainder. Also, if seven
times the smaller number is divided by the
larger one, we get 5 as quotient and 1 as

remainder. Find the numbers.

° Watch Video Solution

77. The sum of a two digit number and the
number obtained by reversing the order of its

digits is 1. Find the number.



https://dl.doubtnut.com/l/_TjN3V9OQm03A
https://dl.doubtnut.com/l/_5qTJYLgyp62X

‘ ° Watch Video Solution

78.In a two digit number, the ten’s digit is three
times the unit’s digit. When the number is
decreased by 54, the digits are reversed. Find

the number.

° Watch Video Solution

79. 4 tables and 3 chairs, together, cost Rs.
2,250 and 3 tables and 4 chairs cost Rs. 1950.

Find the cost of 2 chairs and 1 table.


https://dl.doubtnut.com/l/_5qTJYLgyp62X
https://dl.doubtnut.com/l/_CL8NJZCzbVa1
https://dl.doubtnut.com/l/_cwHNE4QRQcXs

o Watch Video Solution

80. Reena has pens and pencils which together
are 40 in number. If she has 5 more pencils and
5 less pens, then number of pencils would
become 4 times the number of pens. Find the

original number of pens and pencils.

o Watch Video Solution

81. 7 audio cassettes and 3 video cassettes cost

Rs. 1110, while 5 audio cassettes and 4 video


https://dl.doubtnut.com/l/_cwHNE4QRQcXs
https://dl.doubtnut.com/l/_dxSDt31z4qJF
https://dl.doubtnut.com/l/_9ktkfhmT3UGW

cassettes cost Rs. 1350. Find the cost of an

audio cassette and a video cassette.

° Watch Video Solution

82. A man has only 20 paise coins and 25 paisa
coins in his purse. If he has 50 coins in all
totalling Rs. 11.25, how many coins of each kind

does he have?

° Watch Video Solution



https://dl.doubtnut.com/l/_9ktkfhmT3UGW
https://dl.doubtnut.com/l/_jqRA8NiJgYKd

8. In a two digit number, the unit’s digit is
twice the ten’s digit. If 27 is added to the
number, the digits interchange their places.

Find the number.

° Watch Video Solution

84. Sum of two numbers is 35 and their

difference is 13. Find the numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_iYPyhNQRqai0
https://dl.doubtnut.com/l/_DiFsnESkBeQ0
https://dl.doubtnut.com/l/_iPQYWxtj6X7b

85. On selling a T.V. at 5% gain and a fridge at
10% gain, a shopkeeper gains Rs. 2000. But if
he sells the T.V. at 10% gain and the fridge at
5% loss. he gains Rs. 1500 on the transaction.

Find the actual prices of T.V. and fridge.

° Watch Video Solution

86. A and B each have a certain number of
mangoes. A says to B, “if you give 30 of your
mangoes, | will have twice as many as left with

you.” B replies, “if you give me 10, | will have


https://dl.doubtnut.com/l/_iPQYWxtj6X7b
https://dl.doubtnut.com/l/_pYLvu7s5scmk

thrice as many as left with you.” How many

mangoes does each have?

o Watch Video Solution

87. Find the value of k for which the following
system of linear equations has infinite

solutions:

r+(k+1y=5 (k+1)z+9y=8k—1

° Watch Video Solution



https://dl.doubtnut.com/l/_pYLvu7s5scmk
https://dl.doubtnut.com/l/_pXrlzPUi1VEm

88. ABCD is a cyclic quadrilateral such that ZA=(
4y+20 )°, LB=( 3y-5)°, LC=( -4x)° and £D=(

-7x+5)° . Find the four angles.

° Watch Video Solution



https://dl.doubtnut.com/l/_AFscSCSaPlmJ

